November-04-11

$$\left\{\left\{\xi \to \frac{-\operatorname{Log}\left[e^{-\mathbf{x}\,\alpha-\mathbf{y}\,\beta}\right] + \operatorname{Log}\left[\frac{\mathbf{x}\,\alpha+\mathbf{e}^{-\mathbf{x}\,\alpha-\mathbf{y}\,\beta}\,\mathbf{y}\,\beta}{\mathbf{x}\,\alpha+\mathbf{y}\,\beta}\right]}{\mathbf{x}}, \,\, \eta \to -\frac{\operatorname{Log}\left[\frac{\mathbf{x}\,\alpha+\mathbf{e}^{-\mathbf{x}\,\alpha-\mathbf{y}\,\beta}\,\mathbf{y}\,\beta}{\mathbf{x}\,\alpha+\mathbf{y}\,\beta}\right]}{\mathbf{y}}\right\}\right\}$$

$$e^{xx+py}=e^{\frac{x}{2}x}e^{my}$$
 where [with  $y=xC_x+pC_y$ ].

$$\xi = \frac{\log 2C_x + \beta C_y}{2C_x + \beta C_y} = \frac{1}{C_x} \log \left( \frac{1}{2} \left($$

$$\eta = -\log \frac{\langle C_x + \ell \rangle \langle C_x - \beta \zeta \rangle}{\langle C_x + \beta \zeta \rangle} = -\frac{1}{C_y} \log_x^{-1} \left( \langle C_x + \ell \rangle \beta \zeta \right)$$
So I'm good at caying agris.

Now what

$$[x,y+7] = C_x y - C_y x + C_x z - C_z x$$
$$= C_x (y+7) - (C_y+C_z) x$$

